YRR A17

g M H-K2B

Y2l A18

g M H-K2B

H>

3x-2y=7 2x-y=6
M { x+3y=6 @ {3x+y:4
< &F H>




Y2 A15

g M H-K2B

Y2 A16

3x+2y=17 2x—y=1
@ { x+3y=11

g M H-K2B

H>

4x-2y=2 2x+3y=7
M { 2x+y =17 ) {5x+y:—2
< £ A B>




Y/ OFEIl A13

YOIl A14

£ #H
x+y=7 2x+y=4
2x-3y=4 3x+2y=7

g M H-K2B

Ix—-y=17 ) xX+2y=5
2x+3y=1 3x-y=38
< F




Y/ OREIN A1

YRR A12

g # FH-K4
Ix+y=17 2x -y =15
M {x—2y:7 @ {3x+2y:11

H>

g # #-K4%
2x—y=17 2x+y=1
M {3x+2y:7 @ {x—3y:11
< 3 H>




SV A9

g M H-K2B

Y2 A10

M {

2x+y=17 2x+y =35
3x+y=38 @ {

g M H-K2B

H>

3x+y=5 2x+3y=3
M {x—2y:4 @ { 3x+y=8
< 3 H>




YO A7

g M H-K2B

Y2V A8

M {

4x+y=13 @) 2x—-y=3
x-y=2 3x+2y=38

g M H-K2B

H>

2x+y=17 2x+y=4
M {3x+y:10 @ {5x—2y:1
< =3 B>




EY/ 2TV AS

B2 A6

g M HB-RK4A
3x+y=3 2x+3y=10
M {x—2y:8 @) { Ix+y=1

g M H-K2B

H>

Sx+y=17 4x+y=17
M {3x+y:3 @ {x—2y:4
< A>




Y2 A3

B2 A4

g # &-K4%
3x+y=10 2x—-y=3
M { x-y=2 @ {3x+2y:8

H>

g M HB-RK4A
4x+y=6 2x+y=38
M {3x+y:5 @ {Sx—Zyzll
< &F H>




YO Al

YO A2

g # &-K%
Ix+y=17 2x+y =35
M { x—y=1 @ {3x+2y:9

g M H-K2B

H>

Sx+y=17 3x+y=5
M {3x+y:5 @ {5x—2y:1
< 3 H>




